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[TS] var 0 Example 1000000 VAROODOOOOOOODOOOOODODOOOOOOO Example OO
U000 lutkepohl2.dta OO0

. use http://www.stata-press.com/data/r14/lutkepohl2.dta *1
(Quarterly SA West German macro data, Bil DM, from Lutkepohl 1993 Table E.1)
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dln_inc Aln(inc) incO OO
dln_consump Aln(consump) consump 00
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. list qtr inv ln_inv dln_inv in 1/8, separator(4) *2

qtr i nv I'n_i nv dl n_inv
1. 1960q1 180 5.192957
2. 196092 179 5.187386 -. 0055709
3. 196093 185 5.220356 . 03297
4. 196094 192 5.257495 . 0371394
5. 1961q1 211 5.351858 . 0943627
6. 196192 202 5. 308268 -. 0435905
7. 196193 207 5.332719 . 0244513
8. 1961q4 214 5. 365976 . 033257
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e Statistics > Multivariate time series > Vector autoregression (VAR) 00O O
e Model O O: Dependent variables: dln_inv dln_inc dln_consump
Lags: Include lags 1 to: 2 0000000

-
[F] war - Vector autoregressive models =

| Medel | Model 2 | by/if/in | Reporting

Dependent variables: Time settngs.. |

din_ww din_in: din_consump
| Suppress the constant term
Lags
@ Include laes 1 to ) Supply list of lags (eg "2 5 T7)
=

|| Exogenous varizbles:
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01 var 00000 — Model OO

e by/if/in00: If: gtr <= tq(1978q4)
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var dln_inv dln_inc dln_consunmp if qtr <= tq(1978q94), lags(1l/2)
Vect or autoregression
Sanpl e: 196094 - 1978qg4 Number of obs = 73
Log |ikelihood = 606. 307 Al C = -16.03581
FPE = 2.18e-11 HQ C = -15.77323
Det(Sigma_m) = 1.23e-11 SBI C = -15.37691
Equati on Par ns RMSE R-sq chi 2 P>chi 2
dl n_i nv 7 . 046148 0. 1286 10. 76961 0. 0958
dl n_i nc 7 . 011719 0.1142 9.410683 0.1518
dl n_consunp 7 . 009445 0. 2513 24.50031 0. 0004
Coef . Std. Err. z P>| z| [95% Conf. Interval]
dl n_i nv
dl n_inv
L1. . 3196318 . 1192898 -2.68 0. 007 -. 5534355 -.0858282
L2. . 1605508 . 118767 -1.35 0.176 -.39333 . 0722283
dl n_i nc
L1. . 1459851 . 5188451 0.28 0.778 -. 8709326 1.162903
L2. . 1146009 . 508295 0.23 0. 822 -.881639 1.110841
dl n_consunp
L1. . 9612288 . 6316557 1.52 0.128 -.2767936 2.199251
L2. . 9344001 . 6324034 1.48 0. 140 -.3050877 2.173888
_cons . 0167221 . 0163796 -1.02 0. 307 -.0488257 . 0153814
dl n_inc
dl n_i nv
L1. . 0439309 . 0302933 1.45 0. 147 -.0154427 . 1033046
L2. . 0500302 . 0301605 1.66 0. 097 -.0090833 . 1091437
dl n_inc
L1. . 1527311 . 131759 -1.16 0. 246 -.4109741 . 1055118
L2. . 0191634 . 1290799 0. 15 0.882 -.2338285 . 2721552
dl n_consunp
L1. . 2884992 . 1604069 1.80 0.072 -. 0258926 . 6028909
L2. -.0102 . 1605968 -0.06 0. 949 -. 3249639 . 3045639
_cons . 0157672 . 0041596 3.79 0. 000 . 0076146 . 0239198
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dl n_consunp
dl n_inv
L1. -.002423 . 0244142 -0.10 0.921 -. 050274 . 045428
L2. . 0338806 . 0243072 1.39 0.163 -. 0137607 . 0815219
dl n_inc
L1. . 2248134 .1061884 2.12 0.034 . 0166879 . 4329389
L2. . 3549135 . 1040292 3.41 0. 001 . 1510199 . 558807
dl n_consunp
L1. -. 2639695 . 1292766 -2.04 0. 041 -.517347 -.010592
L2. -.0222264 . 1294296 -0.17 0. 864 -.2759039 . 231451
_cons . 0129258 . 0033523 3.86 0. 000 . 0063554 . 0194962

=

[TS] var O Example 1 00O Liitkepohl (2005) D0000000000O0O lutstats O dfk O
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(1)

(1)

(€))

ajp Gy g3 —0.320 0.146 0.961
af? ol ol [ = 0044 —0153 0.288
1 @ (D —0.002 0.225 —0.264
a3y azy  Ag3
(2) (2) (2)
aj; Gy Gi3 —0.161 0.115 0.934
2 2 2
a? a2 a2 | =1 0050 0019 -0.010
2 (2 (2 0.034 0.355 —0.022
azy  G3y  azs
U1 —0.017
v | = | 0.016
V3 0.013
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